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Lesson 32 LO: To use non-unit fractions (number on the bottom)

1. Count how many equal paris there are altogether. Write it as your denominator.

2. Count how many parts have been shaded. Write it as your numerator.

Now vyou try:

What fraction of this shape has been
shaded?

q)% or 1 half

b)% or 1 whole

Now complete the questions below.
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MNon-unit fractions

o Complete the sentences.

a)

b)

There are 3 equal parts.
There are 2 parts shaded.

2-. is shaded.
3

There are | Ly | equal parts.

There are f] parts shaded.

;3’— is shaded.
e

There are 3 equal parts.

There are | " | parts shaded.

:i"_r is shaded.
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o Colour Enf each shape.
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Create, discover and succeed together

- Mﬂ.@w o What fraction of each shape is shaded?
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LO: To find fractions of amounts

Success Criteria:
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Create, discover and succeed together

Now you try:

a)1/50f20=4
20

A

b) Vs Of 48 = 12

s

N

Tip! You could use place
value counters to help divide
the tens first, then the ones.
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Fractions of a set of objects (1)

o Here are some counters.
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a) Circle i- of the counters.

b) How many counters did you circle? 3
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B Drow counters in the bar models to help you complete each
number sentemce. The first one hos been done for you.
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To fnd a half I need
to divide by 2

Do you ogree with Dexter?  eh

Taolk obout it with o partmer.

e Complete the table.
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Froction Division Exomple Drawing
one half divide by 2 %n‘f 6=3 ===
one guarter d-l-uﬁ-l:ltt:j Iy lofag=2 D:D.IID.{J
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Use Huan's method to complete the caloulations

ﬂ]%ufﬁ]: 11 c]Jd-nTSIE:.H

b) %ufd-ﬂ: 1%

° Mijah uses o bor model and place value counters to find -1- of 36

000 000 000

Use Mijagh's method to complete the caloulotions.

CIL-

u] 1 of 96 = 32 c'l of 52 =] |3
h]%ufﬁ-ﬂ: 11
o Which amount is greater? Tick your onsweer. g,
T
1 1 -.ild:l:l':"l"} = B35
inf ar ?nfm
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Showe your workings.
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Create, discover and succeed together

o Complete the number sentences.

u];—nf L0 | =30 d%uf 150 |=s0

b) § of 'E,D = 20
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Rosie, &mir ond .ﬁ.le:c each find a fraction of 24 using counters.
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Alex

a) Order the children from least counters to most coumters.

'R-IDSU.- g A 'I"l'-.l.l'

[: leqst counters JI ( most counters )

b) What fraction of the counters does Alex hawve? ?Ei. = -

€} Rosie and Amir put their counters together.
Write their totol number of counters as a froction of 24
L+g =13
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